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v (a+b)(a-b)’s 2(@+67)

¥ (a+4b)?- (a-h)°= “ab



OMF MATHSE¥I1): or all govt. ex: By ADITYA RANJAN SIR

123=0) (d7= -
Find the value of

1.

(a+h)* 4 (a-b)° . 2
@+ (123 +77)" + (123 - 77)

E (123)" +(77)

(a) O (b) 1

(of 2 (d) 4



w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

2. Find the value of

. (148 + 69)° - (148 - 69)’
-l 148 x 69

(a) 2 \(b) 4

(c) 1 (d) O






BY ADITYA RANJAN SIR




Pgl'ho.aoms qhm:cm G],Q'-I-b'z = C"')

Taplet = " 3,4,S




or all govt. exa BY ADITYA RANJAN SIR

2127 = 132
If 57x ,12%x —13%x, then the value of x is :

SSC CHSL 5 July 2019 (Afternoon)

(a) 2 (b)8

(c) 1 (d) 4



~
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255



: or all govt. exa By ADITYA RANJAN SIR

S. If 6® {Yx = 104Jx then the value of x is :

©" * 9 SscensL s July 2019 (Afternoon
(a) 2 \M 16
(c) 4 (d) 8
Ix =2
'XJC' T2






COMPLETE |\ ¥:¥ i s &) COUF or all govt. exz sy ADITYA RANJAN SIR

| 86- «x30{2 6. If \/35 -60J/2 = a-bJ2, then what will be
= | 86-2{3oxapx2
) _ the value of /42 4+p%2, correct to one
:_ N 86-2JT80 decimal place?
- So - {3¢ CGL Tier-II (11 September 2019)
= (G&-g) (a) 8.4 (b) 8.2
\(y/;.s (d) 7.2

b= ¢ |
ViE




=J§1+2~F.a - \"4-2(3

< (\fé-\- i@

e

2+N3
2,

coMPLETE U LYY K cour

) |+\r,‘32_-" l"%_

o=
S

’P{*‘*-J’Y-H

2 o
P

R

0

N2+

By ADITYA RANJAN SIR

V3 | 43

7. Ifx-= Jl-*——vl——,then the value of
2 2

Ji-=

\/5 B will be closest to :

CGL Tier-II (11 September 2019)

(b) 0.12
(d) 1.2

() 0.17

(c) 1.4

N2+4)

= (ﬁ-.)l

1




0N AMATHSE]I: or all govt. exz By ADITYA RANJAN SIR

ﬁ’/%"' E‘F)@/:ﬁhﬁ)& If \/10_ 221 +\/3+ 2./15 = /a +/b » Where

T30 = Ja+Jb a and b are positive integers, then the value
of /ap is closest to:
= J:, x5 =432 CGL Tier-II (12 September 2019)
(a) 4.6 (b} 5.9

(c) 6.8 (d) 7.2



COMPLETE |\ V;:¥ ¥ s N} COURSE (For all govt. exz By ADITYA RANJAN SIR

_pus 2. @“&2’"‘1’ = ¢) + ca(c - a) is equal to :

CGL Tier-II (13 September 2019)
Ad) (a+B)F-c)c-a) -ac Cc-al
X(b) (a- b)(b + c)(c - a)
X(e) (a-b)(b- c)(c- a)
“{d) (B- a)(F-c)(c-a) ac(c_q

pwp b=0O




w0 N AMATHSE(]1]:

= 2
o=l bz2 <= 9.

(&( l)+,e(/f)//(2/)/
a®

(&) (b- a)(b- c)(c- a)

or all govt. exz BY ADITYA RANJAN SIR

ab(a - b) + be(b - c¢) + cal(c - a) is equal to :

1) CG{,2 ')I‘ier IT (13 September 2019)

>
(@) (a+B)b=c)c=a) -3
(b) (a= BB E elieZ a) = Cod
(©) (a=B)B="c)cTa) -

=~ -
. 2



OMF ATHSK«1): . sy ADITYA RANJAN SIR

= (P Z / 5+\/605+ 245
10. Letx= §27 y= ,
2= J3-33 : * V80 + V125

then the value of @-i- yis:

CGL Tier-II (13 September 2019)
23 221

—_—————

y: 36+ WS4 1T 36 () S
95 4 s(T 221 227
*"'&NZ () o (d) o
39(\(/\,{ =\ \
7= ?1 tR 9
6 -
| ey
3¢




(@4+64-+0%b?
q: b?) = (a*+p*+ab) (o +b°
— 173 X 7 —ab)

@ Qb +ab =
¥QQ'H)‘2—0\\:>—‘|Q’
= 7
@:ng - 3
(a2 S
th!) <y

<) Q42




0. a“tb'+a'b’= o
O’l .t.bl-‘- ab - '8



11.

BY ADITYA RANJAN SIR

If x* + x*y* + ¢y =21 and xX* + xy +

R Y S|

then the value of (‘;2‘ i ;z—) is :

SSC CGL 3 March 2020 (Afternoon)

:
(b) a
7
(d) 3



0N AMATHSE]I: or all govt. exz By ADITYA RANJAN SIR

12. If X+ Xy +y =273 and x*-xy+ y* =13,
then the value of xyis: *°+%+tYy?- 9|
SSC CGL S March 2020 (Afternoon)
\(9/4 (b) 8
(c) 10 (d) 6



comPLETE MY cour

(160" + 3624 8164) = AL
(40 - 6ab+ab?)= 13
4q2 +6ab+Qp2 -

—12ab = &

= £
7

13.

govt. ex: By ADITYA RANJAN SIR

If 16a* + 36a*b* + 81b* =91 and 4a? + 9b%2 =
6ab = 13, then what is the value of 3ab?

SSC CGL 4 March 2020 (Morning)

(a) -3 (b) :

5 .
(e) - 5



Y C

32= 37 =3 14.
a=Zb=Mc

|2 q 273

Q=12

b:u}( \}ﬂ-l/x'*:mq

L= 3%

2 1

\(Q+é+i

N

If 3¢ = 27” = 81° and abc = 144, then the

value of 12(
a

17
(@) 720
18

(c) 120

BY ADITYA RANJAN SIR

1 1

—
2b 5c

SSC CGL 6 March 2020 (Morning)

(b)

.

10
33
10




ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

@ The value of 5./3 +7./2 -./6 - 23
Pt vouw 1 J2 +/3 +6

2,{3,J6 is :
CHSL 14/10/2020 (Afternoon)
(a) O (b) 16
(c) 12 (d) 10



' COMPLETE [\Jl:¥¥ : &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

3(3-5 8+2y3
(8"'2\6)X£ 5) ) 16. If 3\/54\(;:“ 3-b, then the valueof a+ b
- QH@—HO-}@-IO\FB. is equal to :
2 CGL 2019 Tier-II (18/11/2020)
= 4G -0 (o118 ) 15

(c) 16 (d) 24

. )
? QG- = aG-s

%




0= % +__|
|1+ 2.
] )
:)2: x_}g“
y 13
2 24 _
3 K

17

If2=x+
equal to :

14
(a) 13

15
13

1

BY ADITYA RANJAN SIR

1+

1 then the value of x is

1

5+

2

CGL 2019 Tier-II (18/11/2020)

(b) 1

13
(d) 15



OMF ATHSEI): or all govt. ex: BY ADITYA RANJAN SIR

14y -22= 2z -\1S- 3Y -

i3y 262 T) (D 18. 1f2%*¥-25 = ghs-5-5; 54s-6 = g5u+s ; Ghu-3s
B = 9** # then the value of 2x + 3y + 52/is :

;;'ge_:g'g e @SL 13/10/2020 (Morning)

(a) 56 P 44 TS Szii2zys,

y=9-:
( 3 & (c) 32 (d) 28 = 222
UX -3z = 22+22 = @
) @ 21922 2, 4
— 9 S3y | §7Y st 24422

Uy-3 =
3 2= 2%42>

Q-SZ-H 61-262 = -lg

ST
%:“’?2
)



13 = lox1+ I1X3

4657 = 100xXy+/0xS+ 3X|

0-S = S)c_‘\6

2312 2x1p +3X1+ x|

I\



OMF ATHSEI: or all govt. exz BY ADITYA RANJAN SIR

=10 B=l
- _ 7 5
C=fp D=I0° 19. 1f47.2506= 4A+_ + 2C+_+6E then the
€ too00 value of 5A + 3B + 6C + D + 3E is
50 + 38 + 6 C+ D+ 3E (a) 53.6003 (b) 53.603

U] 153.6003 (d) 213.0003







20. If ,x/x = (x\/;c)x, then x equals

4
(a) 9

CF

BY ADITYA RANJAN SIR

(b)

(d)

3
X
2




BY ADITYA RANJAN SIR

= (x\/;c)x , then x equals

’X‘-’XJ’i :‘)(3'5-

(b)g
o 2
()2



21.

povt. ex: By ADITYA RANJAN SIR

If @® + a + 1 = 0 then the value of @)+ a* + 1
is :

(a) a2 (b) 1
ey 0 (d) a+1
Q?'l"Q'H =D
-1y (e yquy) - .
> (Q"*-\):_o

')



21.

BY ADITYA RANJAN SIR

0°=1

If(@®> + a + 1 = Ojthen the value of @® + a* + 1
is : = (@*a+ )
(a) & (b) 1

2 0 d) a+1



22.

povt. ex: By ADITYA RANJAN SIR

If x=16,then x*- 17+ 17x*-17x+ 17 is

(a) O (b) 1 —x+17)
(c) 4 (d) 3 = —16+17
O

u
X1 A oy 4



or all govt. exa BY ADITYA RANJAN SIR

23. Ifx=11,then xX*-12x* + 12x°* - 12x* + 12x

- 1is
(a) 5 (b) 10 _
(c) 15 (d) 20 ‘__@'

= 13 2+ 1wy gy

= MY 3 13 2 =¥ Y 4y =

_)({?(gjq+7‘gwf{37’fiﬁ+m..|

~ ,__'



povt. ex: BY ADITYA RANJAN SIR

If x =86 then x” —87x° +87x° -87x"
+87x° -87x* +87x+50="7is

(a) 126 _(b) 136

(c) 146 (d) 156
-X‘\'SO
i\86+§0



ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

J3 J1+x+J1-x

25. Ifx= ? then the value of Arx-1-x

is

(a) -./3 (b) 1

(c) -1 NN



comPLETE [NV cous

or all govt. exz By ADITYA RANJAN SIR

4% = [I+YS = 2+3 =[y+2y3 J3 J1+x V1-x
2 O i
-f: | Yy 26. Ifx= - then find 1+\/m+1—\/Tx is
2 e
JI-% = (3. (a) /3 (b) Y
2
#
(3% 51 (# 3 (d) 1
o 2
LT N34 —
2 P gi(_{;l)
= &7
S T
. 3R



all govt. ex: BY ADITYA RANJAN SIR

If(x allx-b)=1& ua-b+ 3 =0 find

(a) Q @» =3

(a) 18 ~(b)y 36

(c) 27 (d) None




28.

or all govt. exa By ADITYA RANJAN SIR

Ifa-b+5=0 &(x-a)(x-b)=1 then find

(a) 110 140 N-b= |\
(c) 105 (d) 115




29.

BY ADITYA RANJAN SIR

x+Ux?-1 x-yx?-1
If + = 34. Find x.
x-Jx?-1 x+Jx*-1
(a) -1 (b) -2
(c) +3 (d) -4
| _ 13-
3+Jg 344§ e
By e
: 8) 3%
N) G4
LJEYER
(3~N§)z ) 1 fg) (3‘\“8)




ATHSEI: BY ADITYA RANJAN SIR

@f/mm Q{ufll)-ék‘ If then@c2 12""’% IZxEG

=) /6"2
then /3,2 -12x+19-3x*-12x-11=? &

(a) 4 (b) 3
(c) O Jys




ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

30. If then \/3x2 -12x +19)+ \/3x2 _12@= 6
then 3% -12x+19-/3x* -12x-11=? &

(a) 4 (b) 3
(c) O df’ 5
\q“("l\): Gt\

3,45‘: 5/'3



ATHSE1I): or all g¢ PX3 BY ADITYA RANJAN SIR
31. If [x?_12x+7 ++/x?-12x -7 =2then find
the value of /2 _12x+7 - /x* -12x-7 = ?K

(a) O (b) 1
el 7 (d) 9
1=()2 2XR

7‘}(:/2’,.(




32. Ifax+by=4,bx-ay=3, x* +y* =5 find

(a) 15 \y)/ 5
(c) 35 (d) None

(O oy )+ Co-ay)2= (045) (xP4y?)

P +3% 2 (4p) s
D 8= Ll
S Z_/ )



OMF ATHSEi}: prr all gg PX 3 BY ADITYA RANJAN SIR

P= ytz-x | =% 33. Ifx°+ 1 +2°=3(1+xyz),P= y+2z-xQ= Z
Q= z+%-Yy |= X +x-y,R= x+ y- z then what is the value
Rz n+y-z [= X of
[ J LP3+Q3+R3_3PQR=',9 %
13*}["1—23: 3 (14+uyz) (a) 9 (b) 8
ST L

~3F 35 2

N )X*.x ~3(‘X\(\1\(“)

N ;x?"r?n@

. qxg



